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γ̂(0) = 676789 =
σ̂2

1 − φ̂2

γ̂(1) = 676789 · 0.7323 = 495613 =
σ̂2φ̂

1 − φ̂2

}���"��������#&(���
σ̂2
�����

φ̂ � �'�6�����;����� σ̂2 = 313852
�����

φ̂ = 0.7323 � $V|6}�~���������	R������	;��)G �"���)������
��	

µ̂ = 4503 � �*�����;��"�������	*���G�����,)������
"

Yt = 0.7323Yt−1 + Zt

�*���
���
Zt ∼ � � (0, 313852)

�����
Yt = Xt − 4503

���yx'|'���#���M�����!��	���"����������� ����������
�����vx���&
Y31

��	

Ŷ31 = φ̂Y30 = 0.7323 (3885 − 4503) = −452

�*���
����������"���	��*����	��
������������������������x���	
X30 = 3885 �I� �
����� � X̂31 = Ŷ31 + µ̂ = 4051 � |'����)������	� ��������` ����������
�������G�
�������¡��	

E[(Y31−Ŷ31)
2] = E[Z2

31
] = σ2 � �*�����;�¢������	�����)+�����P��£ σ̂2 = 313852 �

�����yx*��¤�¥¦ ����������
�������_�
���������!��������	������,��	�����)+����������	

4051 ± 1.96
√

313852 = 4051 ± 1098 = 2953, 5149
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|'���#�!®�°�z±����"����²­ � φ22 � ��&B�����,�������
��~_®=���³xP ���������	;	���	6���
���
��)G�������´&�����)s�����#�'�g�

P2X3

��&
X3

���]���
��)�	6��&
X2

�����
X1

��£²�����,���
"����������

P2X3 = φ21X2 + φ22X1

�*���
���
Zt ∼ � � (0, σ2) �|'���,����"����#��&

φ22

�'��	�����"��
��"������������´§I¨��
���
��	��C­ � ­����(��x � $µ�*�'��	'&(�������]�������

φ22 = a2 =
−θ2

(1 + θ2)2 − θ2
=

−θ2

1 + θ2 + θ4

ikj#lBm?nSo�pql·¶�tvu
®��������������������G�����,"��������#	;��)G �"��#����	������������������_��&¡¸R��"��¹� � ��"�
��
����	�����)+��������	 � ���,���������������

[

φ̂1 − φ1

φ̂2 − φ2

]

d−→ N
(

0,
σ2

n
Γ−1

2

)

�*���
���
Γ̂2 =

[

γ̂(0) γ̂(1)
γ̂(1) γ̂(0)

]

=

[

1382.2 1114.4
1114.4 1382.2

]

|'����	���������	
Γ̂−1

2
=

[

0.002067 −0.001667
−0.001667 0.002067

]

|'���#��	�����)+������	
φ̂1

�����
φ̂2

�����#�����;���������]&º����)»�����#�� ������������
[

φ̂1

φ̂2

]

= Γ̂−1

2

[

γ̂(1)
γ̂(2)

]

=

[

1.318
−0.634

]

�*����"��
σ̂2
��	*�������
�]��£¼�����#�� ������������

σ̂2 = γ̂(0) − [1.318,−0.634]

[

1114.4
591.73

]

= 1382.2 − 1093.0 = 289.2

§R	�����)+��������	��;�����������´���
����������������&
φ̂1 ½

σ̂√
n

√

(

Γ̂−1

2

)

11
= 0.0773
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§R	�����)+��������	��;�����������´���
����������������&
φ̂2 ½

σ̂√
n

√

(

Γ̂−1

2

)

22
= 0.0773

®� � �����¨���)+�����¾��¤�¥¿�����������
�����#�!��������	

φ1 : 1.318 ± 1.96 × 0.0773 = 1.166, 1.470

φ2 : −0.634 ± 1.96 × 0.0773 = −0.786,−0.482

ikj#lBm?nSo�pql·¶�t�À
�(��x'Á�	������G�����#Â��Ã��"�������������){������	������;���������´�������

φ̂11 = ρ̂(1) =
γ̂(1)

γ̂(0)
= 0.80625

v̂1 = γ̂(0)
(

1 − ρ̂(1)2
)

= 483.72

φ̂22 =
γ̂(2) − φ̂11 γ̂(1)

v̂1

= −0.63412

φ̂21 = φ̂11(1 − φ̂22) = 1.3175

v̂2 = v̂1

(

1 − φ̂2

22

)

= 289.21

φ̂33 =
γ̂(3) − φ̂21 γ̂(2) − φ̂22 γ̂(1)

v̂2

= 0.08047

φ̂32 = φ̂22 − φ̂33φ̂21 = −0.7401

φ̂31 = φ̂21 − φ̂33φ̂22 = 1.3685

v̂3 = v̂2

(

1 − φ̂2

33

)

= 287.34

���qx�$%&+�����Ä�����;�b������&º����)Å���Æ®�Ç¾�(­�x%�� ���������	�	 � φ33 = 0
�����

φ̂33

��	È���Æ����	��
�������������É&º����)
N(0, 1/100) � $µ�Ê��	]	;���
�b������� |φ̂33| = 0.08047 < 1.96/10 �¿� �¹���
� � ���k������"��Ë�����]���VÌ����
������,Í��
���G��£� !��������	���	

H0 : φ33 = 0
���������#	��������«�����������#"��
���
"S� � ��¤ �
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θ = θ1 = 0.6
�����¾�*�������P������	��`���������������

�� �����"?�;�Ê� � � � ���������
���
�;�������]��£²��	������=&º�����¹¨���)G �"��#$µ|6}�~ � z����*������)���)��
���6��	�����)+�����#��& θ � �����&(��"�"��³�*�����+�� ������������´��	*��	����

θ̂ =
(

1 −
√

1 − 4ρ̂(1)2
)

/
(

2ρ̂(1)
)

�*�����;�²��	R����"����G&º���
ρ̂(1) ≤ 0.5 � |'���6)���)��
������	�����)+������	����������������
�����
����"�£+����"��¹��"����;�
�²��£= ���	�������������,����"�����	*&º���

ρ̂(1)
�������=& � �¹¨ � §I¨����
" �|'����$µ�����³������������	������¼~Ï�g§Ð��	�����)+������	������������;���������]���������
��"�£�&º����)¿$V|6}�~Ñ&(���������;�]�����;�¢	��¹�

������	 � |'����	;��)G �"��P)������G�����¢	;��)G �"��P���������������`&(���¡�����;�¢�µ£� !�P��&���	�����)+�������B�����G��"�	��6�!������"��
��"����������£¼��	������G& � �¹¨ � §B¨����
" �¬����;���������´�;�
	���"���	'&(���*�����#	������Ê����)¾�!�
��	6�;����	��
� �

|'���¢~Ï�g§Ò��	��
"�������"�£´�!��	����«�Ï���
��)�	���&`	v��)G �"��C��������������� � |'���¾)���)��
������	�����)+����������	�������	�� �|'�����
)G �����������"�)�������	I�����¾����������������	B��&���������	�����)+��������	R�����`���¢�������=���������
)��
���I�*�����¢�����'��	�£�)G ��
���������,����������£ �
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